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i1 AQ 18R S1% 18R it R | HEES | 8
JR\E=H] 425 -6 194 -2 231 -4 187 -1
ELH] 229 -1 100 0 129 -1 90 -1
E=H] 150 -3 68 -2 82 -1 65 -2
KEH] 49 0 13 0 36 0 26 0
INEL] 8 0 1 0 7 0 4 0
=] 88 0 35 0 53 0 21 0
SRea H] 62 0 11 0 51 0 14 0
iR el 537 -3 262 -3 275 0 303 -2
FEH] 35 0 20 0 15 0 17 0
1 H] 223 0 91 0 132 0 86 0
= =] 73 1 35 1 38 0 33 0
] 226 -4 110 -3 116 -1 105 -2
ZH] 131 0 57 0 74 0 64 0
e SHT 562 -1 291 -3 271 2 265 0
] 70 1 34 0 36 1 36 0
15RaH] 18 0 12 0 6 0 5 0
FASEH] 151 1 74 0 77 1 88 2
—&T 0 0 0 0 0 0 0 0
NET 105 0 49 0 56 0 49 0
T&ET 153 0 74 0 79 0 55 0
JI\&ET 77 0 35 0 42 0 36 0
NET 264 7 118 5 146 2 89 3
+&ET 240 4 105 2 135 2 120 2
b geakil] 379 -2 155 -1 224 -1 194 -1
ST 2,579 -2l 1,250 1 1,329 -3 1,018 -2
R FRE] 3,494 -91 1,640 -6 1,854 -3 1,331 -7
EEH] 1,508 -5 723 -4 785 -1 508 -2
FRiR ] 1,869 2 937 0 932 2 758 4
FERHE] 505 -5 233 -1 272 -4 220 -3
FHATH] 3,497 4 1,771 4 1,726 0] 1,532 4
LLIAEHT 2,309 5( 1,131 0 1,178 5 890 3




VEIRH] 2,029 8 1,014 5( 1,015 3 523 1
Ll e 4,787 1] 2,345 7| 2,442 -6| 1,726 -1
MEigEs] 2,102 -8 1,050 -3] 1,052 -5 793 -1
EBZRHE] 9,439 14| 4,619 41 4,820 10[ 3,442 5
=2kH] 3,588 18| 1,753 11 1,835 7| 1,343 8
[ EHET 1,041 15 517 7 524 8 415 3
EREFHIER — 2,462 3] 1,171 -1 1,291 4 805 0
EREFHTERS) 1,796 -7 862 -7 934 0 636 -1
EREFHT PG 7> 546 -1 267 0 279 -1 192 -1
Er7KH] 5,639 5 2,682 8| 2,957 -3 1,839 6
g lii) 117 2 105 2 12 0 102 2
ERH] 68 0 42 0 26 0 43 0
ETRE—TH 440 1 222 2 218 -1 195 2
ETREIZTH 297 2 132 1 165 1 135 0
ETREI=TH 1 0 1 0 0 0 1 0
ETREMTH 0 0 0 0 0 0 0 0
ETREATH 236 2 111 -1 125 3 75 1
rES 0 0 0 0 0 0 0 0
TEE—TH 447 5 196 4 251 1 202 2
TEEZTH 768 -4 355 -3 413 -1 343 0
TEE=TH 317 3 151 2 166 1 147 2
ERE—TH 486 -2 218 -1 268 -1 215 -1
RERE—TH 751 1 369 1 382 0 342 2
EE=TH 474 4 246 1 228 3 220 0
EMPRET—T B 341 -1 152 -1 189 0 149 0
Gl = 518 -10 243 -5 275 -5 238 -5
JtFEILE—TH 188 1 79 1 109 0 87 2
JtFEILETZTH 441 2 200 0 241 2 189 1
A —TH 331 -1 174 -1 157 0 142 -2
AR —TH 494 -5 239 1 255 -6 241 -1
FEH—TH 123 -4 52 -2 71 -2 52 -1
FZHZTH 325 1 135 1 190 0 148 -1
[REEIH 338 -5 158 -3 180 -2 203 -2
wFEE—TH 120 -3 57 -2 63 -1 57 -2
RFEE =T H 288 -2 115 0 173 -2 125 0
RAEI—TH 479 5 219 4 260 1 180 1
FREIZTH 328 2 153 1 175 1 141 1
RREI=TH 493 -9 235 -5 258 -4 233 -5
FRAFETI T H 356 3 160 1 196 2 156 1
HFETR T H 571 -1 248 0 323 -1 213 -1
¥FrEE—TH 234 1 122 1 112 0 110 1
FUEEI”TH 349 -8 185 -6 164 -2 173 -5
HIIEEE—TH 475 5 214 2 261 3 225 2




HIGEAI”TH 328 1 152 0 176 1 131 2
BRE—TH 140 1 64 0 76 1 72 0
BRI "TH 659 -1 299 3 360 -4 289 -1
BRE=TH 581 -2 280 0 301 -2 229 -1
BEEMTH 244 0 118 0 126 0 101 0
EEEATH 716 -1 330 -1 386 0 344 1
Kt —TH 287 3 136 3 151 0 105 2
XK —TH 215 2 107 1 108 1 85 1
AFH—TH 133 0 60 0 73 0 57 0
AFHZTH 7 0 4 0 3 0 4 0
AFH=TH 220 -3 118 0 102 -3 97 -1
TEEIA—TH 626 0 298 1 328 -1 222 -1
TEsETFE T H 290 -3 135 -2 155 -1 109 -1
TEEAR=TH 180 -2 95 -2 85 0 70 -2
TEEIFEM T B 489 -2 236 -1 253 -1 188 -1
TEEAATH 654 5 309 1 345 4 244 2
TEEIPRNT B 414 -3 187 -3 227 0 167 -2
TEsETFEE T H 608 -2 292 3 316 -5 274 0
TEEIFEA\TH 660 -1 318 -1 342 0 268 0
TERER—TH 1,325 3 637 3 688 0 558 0
THREERTTH 404 3 204 4 200 -1 161 1
TEREIR=TH 696 -3 344 -3 352 0 284 -2
TEREIERIUT B 1,130 8 540 4 590 4 455 7
TEHREERATH 1,209 8 746 8 463 0 690 7
T2REERANT B 659 -4 347 0 312 -4 330 -1
TEZRERETH 1,478 3 726 3 752 0 591 6
TARETERNTH 1,391 -1 661 3 730 -4 608 -4
TEREIRAT B 543 -1 274 1 269 -2 101 -2
TEEIE—TH 77 1 43 0 34 1 57 1
TEEIEZTH 61 0 37 0 24 0 47 -1
4N &t 81,063 26 39,294 39| 41,769 -13| 31,943 18
AEH]E 143 0 58 0 85 0 77 0
AEHTA 133 0 68 0 65 0 64 0
AEHTRE 14 0 4 0 10 0 10 0
AREHT/NBR 138 0 61 0 77 0 64 0
AEHKH 13 0 5 0 8 0 9 0
AEHTEH 78 0 32 0 46 0 40 0
AEH R 14 0 7 0 7 0 7 0
AEHE /R 9 0 2 0 7 0 6 0
45 17 0 8 0 9 0 11 0
AEMIXEEST 559 0 245 0 314 0 288 0
IN= 1 AVES] 39 0 21 0 18 0 25 0
IN= 1RO 49 0 23 0 26 0 31 0




IN= I E0) 37 0 15 0 22 0 22 0
[ SHTERES 40 0 20 0 20 0 26 0
[LERTEAR 70 -1 33 -1 37 0 37 0
[LSHETHH 35 0 15 0 20 0 19 0
NG9 35 0 21 0 14 0 17 0
[LEE/NFS 53 3 29 1 24 2 24 1
FEH] 42 0 22 0 20 0 30 0
[ S EEET 400 2 199 0 201 2 231 1
SUEERSET 959 2 444 0 515 2 519 1
e X T ] 1,409 -2 656 -2 753 0 490 -1
2 X BT ] EH T 782 -4 341 -3 441 -1 259 1
&R R 1,298 2 628 1 670 1 427 2
e 2K T iz E P 1,115 4 540 2 575 2 371 1
e 1,449 -1 690 1 759 -2 455 0
e 1,187 6 570 1 617 5 422 3
TN ] = AR 3,997 1 1,913 3| 2,084 -2 1,323 1
TR X ERET 11,237 6| 5,338 3| 5,899 3| 3,747 7
ERILIET_ESREESF 2,022 4 953 2 1,069 2 635 6
ERILIE] RSB 2,576 1 1,276 0| 1,300 1 855 2
ERILIETER/)N I 2,131 12| 1,059 9 1,072 3 791 4
BRI BT PaR T 1,512 -4 746 -5 766 1 511 -1
BRI LI BT iF 1,049 0 506 -1 543 1 351 0
ERLLIET) 1R 2,332 -3] 1,150 of 1,182 -3 801 5
ERILETER YR T 5,786 30 2,792 16| 2,994 14 2,118 20
BRI [X &R 5T 17,408 40| 8,482 21| 8,926 19 6,062 36
=) 5t 110,667 74| 53,558 63| 57,109 11| 42,271 62




